
 

 

DEFENSIVE AND COMPETITIVE BIDDING  LEADS AND SIGNALS  W B F CONVENTION CARD 

OVERCALLS (Style: Responses: 1 / 2  Level; Reopening) OPENING LEADS STYLE  

Aggressive at 1 level   Lead In Partner’s Suit CATEGORY:   
Sound at 2 level  Suit 2nd and 4th 3rd and 5th NCBO: Scotland 
 NT 2nd and 4th 3rd and 5th PLAYERS:   Dan McIntosh & Rob Myers 
 Subseq Attitude Attitude  

 Other:  

   

1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY 
Direct = 15+-18HCP Lead Vs. Suit Vs. NT 

Protective = 11-14 over 1m, 11-16 over 1M Ace AK(x) AK(x) GENERAL APPROACH AND STYLE 
 King AK/KQ(x) AK/KQ(x) 5 Card Majors 
 Queen Qx/QJx Qx/QJx, KQx(x) 2/1 GF 
 Jack Jx/JTx Jx/JTx 1N = 14-16/15-17 

JUMP OVERCALLS (Style; Responses; Unusual NT)  10 Tx/T9x/HT9x(x) Tx/T9x/HT9x(x) 1 2+ 

Pre-emptive 9 9x, H98 9x, H98 1- 5+ unbal or  4441 
 Hi-X xx /xXx/xXxx Xx/xXx  

 Lo-X HxxX(xx) HxxX(xx)  

Reopen:  SIGNALS IN ORDER OF PRIORITY  

DIRECT & JUMP CUE BIDS (Style; Response; Reopen)  Partner’s Lead Declarer’s Lead Discarding SPECIAL BIDS THAT MAY REQUIRE DEFENSE 

(1)-2 = 5+ 5+, (1)-2 =5+ 5+ 1 Reverse Attitude Count Reverse Att  Transfers over 1 
(1M)-2M = 5+OM 5+m  Suit 2 Reverse Count SP Reverse Count Light Openings Possible 
 3 SP    

 1 Reverse Attitude Reverse Count Reverse Att  

VS. NT (vs. Strong/Weak; Reopening;PH) NT 2 Reverse Count SP Reverse Count   

2 =  4+ 4+ now 2 = equal length or GT if raises 3 SP    

2= a major 2M = p/c, 2N - asks Signals (including Trumps):   

2M = 5+M 4+ m   

2N = minors/2 Suit GF   

3X = pre-empt  DOUBLES  

X of a strong NT = 5m 4M  

VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids) TAKEOUT DOUBLES (Style; Responses; Reopening)  

Leaping Michaels, x = t/o X of UCB = t/oof suit overcalled  

Non Leaping Michaels Game try, lightner, responsive  

   

VS. ARTIFICIAL STRONG OPENINGS- i.e. 1 or 2  SPECIAL FORCING PASS SEQUENCES 

x = + , 1N = minors, SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS 1N-X, when GF 

   

   

OVER OPPONENTS’ TAKEOUT DOUBLE  IMPORTANT NOTES 

Over 1M (x) transfers   

1C (x) transfers    

  PSYCHICS: Happen 
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DESCRIPTION RESPONSES SUBSEQUENT ACTION 
COMPETITIVE & PASSED 

HAND BIDDING 

1    a) 11-13 balanced 2+ 

b) 17-19 balanced 2+ 

c) 11+ unblanaced 4+ 

1=, 1 =, 1N 5+, 2 = 5+  

2= multi 6M, 2 = 5 4 , 2 = minors 7-11, 

2N = Both minors 0-6,  

3 Level = Natural pre-emptive 

1 1 1/ 1 1 1   =  11-13 bal  

1 1 1N/1 1 1N  = 17-19 bal 

1 1 3/ 1 1 3/ = 17-19 balanced 4M 

Transfers in competition 

1 2 = 4 5 

1 2M = 5M 3+ 
 

1    a) 5+ unbalanced 

b) 4-4-4-1/1-4-4-4 

1M = Nat, 2 Nat FG, 2 forcing to 3 

2M = Weak, 2N = Nat invite, 3 Nat invite 

3 = pre-emptive 

1 1M 1N = clubs 

1 1M 2 = 6+  

1 1 2= 5 3 

1 1 2 = 5 4 

2M = fit  

 

1    5+  could be light in 3rd 1 = 4+, 1N =semi forcing, 2X = Nat GF, 2 7-10, 

2 = Weak 

2N = 4+ 10+HCP 

3m = Invitational 

3 = splinter somewhere 

3N= void ,  4m = void 

1 1 1N = 16+ 

 1 2X 2N = 11-13bal or 17-19 

1 2X 3 = semi solid suit 

Transfers after 1 (x) 

2 = 3+ 7-10 

    5+ could be light in 3rd 1N = Semi Forcing, 2X = Nat GF, 2 7-10  

2N = 4+ 10+ HCP 

3m/ = Invitational,  

1 3 = pre-emptive  

3N = splinter somewhere 

4x = void 

1 2X 2N = 11-13bal or 17-19 

1 2X 3 = semi solid suit 

Transfers after 1 (x) 

2 = 3+ 7-10 1 

INT    14-16 1st/2nd 15-17 3rd/4th Stayman, Transfers, 3 = minors invite, 3 = 

minors GF, 3M = 31(45) 

1N 22 3M = 4M 5oM X = takeout, Lebenshol  

2  0  GF or 20-21 balanced 2 = relay, 2M = to play opposite 20-21 balanced 

3X = natural GF 

2 22 = hearts or 20-21 balanced X = take out 

2 

2 

2 

  

 

5 

 

Weak 2N asks for feature 3 Trump = minimum, 3X = feature Transfers from 2N after double 

2NT    22-23 Stayman, transfers, 3 = minors, 3N to play, 

4 = majors, 4 = hearts, 4 = Spades,  

2N 33 = fit 

2N 33=fit 

 

 

        

3X  6  Pre-emptive 4 = a slam try (4 over 3) 3  

3NT    Running minor 4 = Pass or correct, 4 asks for shortage  3N 4 4M = shortage, 4N =7222, 5m = short 

other minor 

 

4X 

 

 7  Pre-emptive    

4NT    Ace asking     

      HIGH LEVEL BIDDING 

      RKCB 14/30 
      EKCB 30/14 
      Italian Cues Bids 
      Frivilous 3S/3N 
 


